BLOCK R



210-1455 Youville Drive Orleans, On K1C 6Z7 Phone: 613-837-1104

Vendor:

4041127 CANADA INC. o/a CUT RITE CONSTRUCTION 3019 CARP ROAD CARP, ON K0A 1L0

Ship To:

Site: Lot/Unit: **DEERFIELD VILLAGE PHASE 2**

Model:

Civic:

DEARBORN PRIVATE

tel: fax:

(613)831-7601 CHERYL contact:

ORDER DATE	CHG. ORDER DT.	CANCEL DATE	RESPONSIBILITY	VENDOR#	TERMS
Mar 10, 2022			ARIEL	C08	NET 30 DAYS
Comments/Special In	Comments/Special Instructions:				REFERENCE

JOB/LOT/COST	REFERENCE	Description	QTY ORDERED	UNIT PRIC	E EXTENSION	
042-R09-612	CODE 612	PRICE DIFFERANCE FOR CHANGE TO ALUMINUM DECKING BLOCK R09	1.0000	1,373.21000	1,373.21	
042-R10-612	CODE 612	PRICE DIFFERANCE FOR CHANGE TO ALUMINUM DECKING BLOCK R10	1.0000	1,373.21000	1,373.21	
042-R11-612	CODE 612	PRICE DIFFERANCE FOR CHANGE TO ALUMINUM DECKING BLOCK R11	1.0000	1,373.21000	1,373.21	
042-R12-612	CODE 612	PRICE DIFFERANCE FOR CHANGE TO ALUMINUM DECKING BLOCK R12	1.0000	1,373.21000	00 1,373.21	
10	Two		Subtotal		16,478.59 2,142.22	
Authorized Signature			Total Order Value		18,620.81	

ORDER TERMS AND CONDITIONS

- 1. INVOICES must bear exact same prices and terms or authorization for changes must be received from our company in writing prior to shipping.

 2. The right is reserved to cancel all or part of this order if not delivered within the time specified.
- 3. Packing slips must accompany all shipments.
- 4. In the event of interruption of our business in whole or in part by reason of fire, flood, windstorm, earthquake, war, strike, embargo, acts of God, governmental action, or any causes beyond our control, we shall have the option of cancelling undelivered orders in whole or in part.
- 5. Acceptance of this pirchase order, or shipment of it will constitute an agreement to all of its specifications as to terms, delivery and prices.
- 6. No deliveries accepted after 4:00 pm or on weekends.

210-1455 Youville Drive Orleans, On K1C 6Z7 Phone: 613-837-1104

Vendor:

4041127 CANADA INC. o/a CUT RITE CONSTRUCTION 3019 CARP ROAD CARP, ON KOA 1L0

Ship To:

Site:

DEERFIELD VILLAGE PHASE 2

Lot/Unit:

Model: Civic:

DEARBORN PRIVATE

BLOCK R

tel fax:

(613)831-7601 CHERYL contact:

ORDER DATE Mar 10, 2022	CHG. ORDER DT.	CANCEL DATE	RESPONSIBILITY ARIEL	VENDOR # C08	TERMS NET 30 DAYS
Comments/Special Instructions:				REFERENCE	

JOB/LOT/COST	REFERENCE	Description	QTY ORDERED	UNIT PRICE	EXTENSION
042-R01-612	CODE 612	PRICE DIFFERANCE FOR CHANGE TO ALUMINUM DECKING BLOCK R01	1.0000	1,373.220000	1,373.22
042-R02-612	CODE 612	PRICE DIFFERANCE FOR CHANGE TO ALUMINUM DECKING BLOCK R02	1.0000	1,373.220000	1,373.22
042-R03-612	CODE 612	PRICE DIFFERANCE FOR CHANGE TO ALUMINUM DECKING BLOCK R03	1.0000	1,373.220000	1,373.22
042-R04-612	CODE 612	PRICE DIFFERANCE FOR CHANGE TO ALUMINUM DECKING BLOCK R04	1.0000	1,373.220000	1,373.22
042-R05-612	CODE 612	PRICE DIFFERANCE FOR CHANGE TO ALUMINUM DECKING BLOCK R05	1.0000	1,373.220000	1,373.22
042-R06-612	CODE 612	PRICE DIFFERANCE FOR CHANGE TO ALUMINUM DECKING BLOCK R06	1.0000	1,373.220000	1,373.22
042-R07-612	CODE 612	PRICE DIFFERANCE FOR CHANGE TO ALUMINUM DECKING BLOCK R07	1.0000	1,373.220000	1,373.22
042-R08-612	CODE 612	PRICE DIFFERANCE FOR CHANGE TO ALUMINUM DECKING BLOCK R08	1.0000	1,373.210000	1,373.21

Continued on next page...

CUT RITE CONSTRUCTION

CARP, ON K0A 1L0 [613]-839-0808

Fax [613]-839-5558

3019 Carp Road

Date Invoice # 2022-02-28 (56774)

Bill To

VALECRAFT HOMES
1455 YOUVILLE DRIVE, STE 210
ORLEANS ON
KIC 6Z7

P.O. No. Terms

Net 30

Site	Lot	Model	Description	Qty	Rate	Amount
Proj #42	 1 a To de de malaces, acroner en 	and the second second section in the second section is a second section of the second section in the second section is a second section sectio	Deerfield Village Ph 2- Block R	(1) (1) (1) (1) (1) (1) (1) (1) (1) (1)		
Block R		Other	Difference in price for change to aluminum decking HST (13%) On Sales		16.478.59	16,478.59 2,142.22
100 miles					OU	
					AS.	
					C08	>
12 (12 (14 (20)) MARINE A 2000				E	NTERE	SD

:	
	The second secon
	A service charge of 1 1/2 % per month (18% per year) will be charged on past due amounts.
; ;	Division of 4041127 Canada Inc.
; ;	HST # 855324935

 Subtotal
 \$16,478.59

 HST
 \$2,142.22

 Total
 \$18,620.81

Payments/Credits \$0.00

Balance Due \$18,620.81

Material

Unit G-1

Re &Re rail and decking New aluminum decking - 5x18

New aluminum treads - 11 @ 410" wide

Gorilla decking (credit) - 5x18

Gorilla tread (credit) - 11 @ 4'10" wide

Unit G-2

Re &Re rail and decking New aluminum decking - 5x12

New aluminum treads - 11 @ 4'10" wide

Gorilla decking (credit) - 5x12

Gorilla tread (credit) - 11 @ 4'10" wide

Unit G-3

Re &Re rail and decking New aluminum decking - 5x7

New aluminum treads - 11 @ 4'10" wide

Gorilla decking (credit) -5x7

Gorilla tread (credit) - 11 @ 4'10" wide

Unit G-4

Re &Re rail and decking New aluminum decking - 7x17

New aluminum treads - - 11 @ 4'10" wide

Gorilla decking (credit) -7x17

Gorilla tread (credit) - 11 @ 4'10" wide

Unit G-6

Re &Re rail and decking New aluminum decking - 5x14

New aluminum treads - 11@ 4'10" wide

Gorilla decking (credit) - 5x14

Gorilla tread (credit) - 11 @ 4'10" wide

Unit G-7

Re &Re rail and decking New aluminum decking - 6x17

New aluminum treads - 11@ 4'10" wide

MAN UN MIX

Gorilla decking (credit) -6x17 Gorilla tread (credit) - 11. @ 4'10" wide

Unit G-8

Re &Re rail and decking

New aluminum decking - 5x14 New aluminum treads Gorilla decking (credit) - 5x14 Gorilla tread (credit)

Unit G6 and 8 Remove (2) full length columns and install (2) new columns

(2) 8x8x12 w/3 1/2" trim

Painted

Total Cost

\$16,478.59 + hst

HAR (4. 2022